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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Indian Society ) 
a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L È[˝◊ªJÙyÓY…SÔ %[˝ÿöˆÁ„XÃ[˝ ]„W˝Ó B„EıÓÃ[˝ 
V ªRÕÙTˆÁÃ[˝ Â^ [˝gÁW˝X ÂVFÁ ^ÁÃ^ TˆÁÃ[˝ CYÃ[˝ ◊[˝ÿôˆÁ◊Ã[˝Tˆ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) ◊c˜≥V« Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? \ˆÁÃ[˝Tˆ›Ã^ 
a]Á„LÃ[˝ ÊY“l˘ÁY‰ªRÙO Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ \ˆÁI¯„XÃ[˝ 
EıÁÃ[˝Sm◊_Ã[˝ ◊[˝‰`¿bS EıÃ[˝”X* 

 (G) %ÁW˝«◊XEı \ˆÁÃ[˝„Tˆ Ê`“S› [˝Ó[˝ÿöˆÁÃ[˝ Ã[˝÷Ym◊_ a∂ëˆ„μ˘ ªRÙO›EıÁ 
◊_F«X* 

 (H) \ˆÁÃ[˝„Tˆ LXaeFÓÁ ◊[˝XÓÁ„aÃ[˝ a„Ü aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤X 

Eı›\ˆÁ„[˝ a+◊EÔıTˆ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X*  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ]W˝Ó^«G›Ã^ \ˆÁÃ[˝Tˆ›Ã^ a]Á„L c˜Oa_Á„]Ã[˝ Y“\ˆÁ[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(F) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L G–Á]›S BEıÓ A[˝e G–Á]m◊_Ã[˝ 

YÁÃ[˝&◊Ã[˝Eı ◊X\ˆ¤Ã[˝`›_TˆÁÃ[˝ CYÃ[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L Y◊Ã[˝[˝Á„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 

aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ÊY“◊l˘„Tˆ Y◊Ã[˝[˝ÁÃ[˝ XÁ]Eı 

Y“◊TˆúˆÁ„XÃ[˝ \ˆ◊[˝bÓd ◊Eı ? 

(H) ◊[˝[˝Á„c˜Ã[˝ Y“EıÁÃ[˝„\ˆVm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) Y…[˝ÔÁá˚„_Ã[˝ %Á±¡›Ã^TˆÁ [˝μ˘„XÃ[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(ªªJÙ˜) TˆY◊`◊_ LÁ◊Tˆ a∂ëˆ„μ˘ AEı◊ªRÙO Ã[˝ªJÙXÁ ◊_F«X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) [˝SÔ ◊Eı ? 

(F) [˝ß\ˆT ˆ¤Eı±ºˆ ◊Eı ? 

(G) ÂGÁúˆ› [˝◊c˜\…ˆ¤Tˆ ◊[˝[˝Ác˜ ◊Eı ? 

(H) [˝Ã[˝YS ◊Eı ? 

(I¯) ^L]Á◊X [˝Ó[˝ÿöˆÁ ◊Eı ? 

(ªJÙ) LÁTˆ aªJÙ_TˆÁ EıÁ„Eı [˝„_ ? 

(ªK˜) ÂGÁªR«ÙO_ ◊Eı ? 

(L) "a[˝ÔLX›X }ÁT ˆ±ºˆ„[˝ÁW˝' ◊Eı ? 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Write extensively on the strength of unity 

amidst diversity in Indian society. 

(b) What are the characteristics of Hindu Joint 

Family ? In this respect analyse the causes 

of decline of Joint family in India. 

(c) Write a note on the forms of classes in 

modern Indian society.  

(d) Discuss the relation between demographic 

profile and social change in India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Write on the impact of Islam on Middle age 

Indian society. 

(b) Discuss the village solidarity and mutual 

interdependence of villages in Indian 

society.  

(c) What are the characteristics of family in 

Indian society ?  What is the future of 

family in the context of social change ? 

(d) Discuss the forms of marriage. 

(e) What are the characteristics of kinship 

relations of North India ? 

(f) Write an essay on the Scheduled Castes. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is Varna ? 

(b) What is Fraternal Polyandry ? 

(c) What is Out-group marriage ? 

(d) What is Dowry ? 

(e) What is Jajmani system ? 

(f) What is caste mobility ? 

(g) What is Ghotul ? 

(h) What is 'universal brotherhood' ? 

    


